Bodcdel!

[.0. o answer arithmetic calculations
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C ompbete using an appropriate method.

1 | 4582 + 456 " |10 524 x 2 ‘
2 |8925- 256 1113627 49 :
3 |71+ __=128 i [12]0.09-0.04 |
4 |78- =11 |13 9%-3% 1
g 300 x 300 14324+ 18 2
6 =+ + |15]324 + 54 :
7 (867,000 + 10 o[855 .

52 |17 ]23x17 :
9 [04+08 ' |18 741,189-277,881 '
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5% x 56
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Answers!

1 |5,038 10 1048 19 |628462 28 |4704

2 (8,669 11 (403 20 |35 29 7219

3 |57 12 10.05 21 |28,728 30 |s

4 |67 13 |5 17/20 22 |20/3 6 2/3 31 633

5 (90,000 14 |18 23 |28 32 |573,093

6 |10/12 5/6 15 |6 24 |2 33 10/12 5/6
7 |86,700 16 [1/4 25 418 2/9 34 |96

8 |25 17 |3.91 26 (7/40 35 324

9 1.2 18 (463308 27 |245 36 |2




